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(Q.1) 5 3Pl BT TGLE =l
qm(svm) 3057a’£ns g+l 8, 8-

(Th@ number of 5 digits made

up of 3,0,5,7 and 8 is)

(JNV 2013)

31 533 (1) 87350
A7) 87530

O (%™, Evey (3) 85703

(4) 83570
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o @ (1.68+16.32) X0 +25 (24.22
| . dl ¥ == ¥ figa

5.78) x10-200
323 2 J@ﬁ)-aoo T 3mEE
30.—00 ((1.68+17.32) X0 +15 (24.22 +5.78)
— A x10-200then Chi will come in the blank
BODMAS d space.)
\ L\V\, \ _206-3A0Q - (a) >
O) gr = % %) <

‘ s _% |00
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(et

S+2 (The decimal form of 5 g is-)
& SESEEN
5+.635 )_T}k (A)5.375
Ry (B) 53.75
/
32' (C) 5.255
= (D) 5.625

3TYH SIHPRI P foIg 59 a7 7602310280 U HUD B




W4dTe} JAdiey fAeTad 2026 B&IT -6 New BT Batch Start

(D)1 g o 1 T B
\K O Vvalue of the following expression will be)-
‘O%QX, &9 " (JNV 2007)
\00
4 + |44 + .1@@
aaza)('i:“\ \SN SN N
A -exe=3¢ i3 T ((21))1-421
l —
. \“6 \_(,g) a
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Ll @D AmifimaRadcad
Refd Y, AreTPradl ARl BH &

Ascendin y e 1w
g él‘ll?( If the fractlona,a,g,g is represented

ﬁ'ﬂ% : by A, B, C and D, then what will be their
|

scending order?) (2012)
b ( CchI<B) (a) A<B<C<D

(b) B<C<A<D

(c) A<C<B<D

ey C< A< D<B
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| # ¢y = |00 %W W%HE 3100 G |
— | AT T g~ T 2

O "~ ( The cost price of a book is X100. The
L) DT 10 g :?l%hopkeeper sells 3 such books for X 275.

§—|a S R OB §\A;hat is profit or loss) (JNV 2024)
J = CP-SP ;0 (A) dTH Z 175
= 300-7S ,_7)3 (B) @TH X 25
ﬁ/ (C) BTH % 175

~—p) BT 225
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e TBR UTh RIS T YT 210

ol @ %ﬂ%%%ﬁaﬁ?wmﬁﬁﬁ#
L TIT? ITST &I Bl &3 5.50 .

- yid Aiex % (What will be the cost of building

a fence around a square park whose one side

e ———

10
° is 210 meters long? The fencing rate is Rs
Q‘G\M = 5.50. per meter is)- (V1.-.Y.Y. 1997)

~ 1M = S.s0 @
J¥diy — 08 = |
T TN =\ Quy =R XS%2)4000 .

S = UxS§ -
pof P < Yx3)0 A < 84 S5 (3) 4680 .
" Y0¥k (e (4) 840 .
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?;3%? ‘F%ITFS: 4 .' %m

dfis (Rows) mg,mr, L =_] Book (R
Mmoo =Y LY
4f¥6-2 (Row-2) OO0, "'/‘5
dfi-3 (Row-3) (1 0
dfes-4 (Row-4) UDOoowoom - ¢
GfR5-5 (Row-5) DOOOooomomao

(A)9 48710 (C)11 (D) 16
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Q.9 What is thebupplement)of the

complement of two-thirds gf a rlgcb}

‘é‘:)x 59 angle?
co (ioin & A REer e P
=GO -

J0 e T 82
—% J§g (A) 120 °
= E \6) 150 °
(C)30°

(D) 60 °
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30 P UFETS §

30 303 2y, \)3/3}3’|<The factors of 30 are

3| |5
oL (A)2,3,5

| (B)1,2,3,5,10

(C) 1, 2, 3, 10,15
\(-D/) 1,2,3,5,6, 10, 15, 30
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